Question Mo : 1 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

The operators ++ and -- are used to mcrement or decrement the walue of a vanahle by

Answer (| Please select your correct option )

3
-

; v
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Question Mo : 2 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

Which of the following operators is used to access the value of vanable poited by a potnter?

Answer (| Please select your correct option )

* operator
&
-= operator
-
& & operator
~ peret \/
& operator
r
https://genrica.com https://youtube.com/c/VirtualUniversityPakistan




Question Mo : 3 of 26

Marks: 1 (Budgeted Time 1 Min)

=

In case of single dereferencing, the walue of the

1z the address of the

e

Answer (| Please select your correct option )

pointer, variahle
f"

pointer, constant

wariahle, pointer

contant, pomter

https://genrica.com

https://youtube.com/c/VirtualUniversityPakistan




Question No : 4 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

The remnainder (%) operator 15 a operator,

Answer (| Please select your correct option )

Logical
&
Arthmetic
[ \/
Relational
o
Conditional
A
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Question Mo : 5 of 26

Marks: 1 (Budgeted Time 1 Min)

=

WWhat will be the output of following code?
mtz=10,
cout =< “x =" <<

e

Answer (| Please select your correct option )

10
&
=107
-
=10
8 \/
10=x
A
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Question Mo : 6 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

The purpose of using cout=<1s to

Answer (| Please select your correct option )

Display information on the screen
2 \/

Eead the data from kevboard

Read the data from a file

Write mto a file
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Question Mo : 7 of 26 Marks: 1 (Budgeted Time 1 Min) (=

e

Which of the following data types will be azsumed fno data type 15 specified with constant?

Answer (| Please select your correct option )

short i think short
&
float
-
it
"
double
.
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Question Mo : § of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

WWhen an array elemnent 15 passed to a function, it 15 passed by

Answer (| Please select your correct option )

- reference \/

data type
-

value
o

data
A
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Question Mo : 9 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

While progratming, it 13 good to provide an easy to understand and easy to use interface; this programming sholl 15 called

Answer (| Please select your correct option )

scalability
P

uzability
: v~

rehiabdity

sustainabdity
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Question Mo : 10 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

executes all the lines hefore error and stops at the line which containg the error.

Answer (| Please select your correct option )

Intrepreter
. \/’
Compiler
-
Linlcer
o
Debugger
A
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Question Mo : 11 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

Which one of the following 15 the correct syntas to access the value of first element of an array using pointer pte?

Answer (| Please select your correct option )

pir{0]
A

Hptetl)

pir[1]

*pr[0]
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Question Mo : 12 of 26

Marks: 1 (Budgeted Time 1 Min)

=

15 afan langnage.

e

Answer (| Please select your correct option )

lowr lewel
&
ohiect based
-
obiect orented
o
function onented
2 1 t \/
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Question Mo : 13 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

of a function 12 also known as signature of a function.

Answer (| Please select your correct option )

Drefinttion

&
eclaration

. D th \/

Calling
o

Irrvolang
A

https://genrica.com https://youtube.com/c/VirtualUniversityPakistan




Question No : 14 of 26

Marks: 1 (Budgeted Time 1 Min)

=

are very good tools for code reuse.

e

Answer (| Please select your correct option )

operators
&
loops
-
functions
i . \/
variables
A
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Question Mo : 15 of 26 Marks: 1 (Budgeted Time 1 Min) =]

e

If any breal staternent 1 trissed i switch staternent then

Answer (| Please select your correct option )

compiler will give error
P

this tnay cause a logical error

no effect on program

program stops s execution
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Question Mo : 16 of 26 Marks: 1 (Budgeted Time 1 Min) (=]

e

A 2D array multa[5][10] can be accessed using the array name as **multi | this techmgue 13 called

Answer (| Please select your correct option )

Single referencing
f"

Single dereferencing

Double referencing

Diouble dereferencing
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Question Mo : 17 of 26

Marks: 1 (Budgeted Time 1 Min)

=

In CiCH, the default command line arguments passed to the main fanction are

e

Answer (| Please select your correct option )

I

float arge, char **argv

int arge, char **arpv

ve

nt *arge, char *argv

int arge, float **argv
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Question Mo : 18 of 26

Marks: 1 (Budgeted Time 1 Min)

=

& record iz a group of related

e

Answer (| Please select your correct option )

Files
f"

Bytes

Fields

Data
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Question Mo : 19 of 26 Marks: 1 (Budgeted Time 1 Min) =]

e

The microsoft word document( doc) 15 a kind of

Answer (| Please select your correct option )

Sequential File
f"

Random Access File

Binaty Access Fie

Executahle File
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Question Mo : 20 of 26

Marks: 1 (Budgeted Time 1 Min)

=

Ml character 15 used to mdicate the

of string.

e

Answer (| Please select your correct option )

Start
r
- End \/

Eedgin
o

Middle
A
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Question Mo : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

Consider the structure —

struct Customer

{ |

nt custmm,
it salaty;

Answer (| Please click here to Add Answer )
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Question Mo : 21 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

L 'y

it custom,
it salaty;
Boat comrmussion,

i

WWirite the code for declaring a Customer type vanable cust] and assign a value 2000 to the structure member salary. =

Answer (| Please click here to Add Answer )
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Question No : 22 of 26 Marks: 2 (Budgeted Time 4 Min) (=]

e

How two dimensional array relates with a matr?

Answer (| Please click here to Add Answer )
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Question No : 23 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

e

Identify each of the given functions as string conversion function or string manipulation function.

1. double atof{const char *nptr)
2. char *strepy  char *s1, const char *s2)
3. int atoi{const char *npte)

Answer (| Please click here to Add Answer )
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Question No : 24 of 26 Marks: 3 (Budgeted Time & Min)

WWhat 12 the cutput of following code snippet?

it array[ 7], sum =0,
Forint =017 1)
i

array(i] =1,

Answer (| Please click here to Add Answer )
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Question No : 24 of 26 Marks: 3 (Budgeted Time 6 Min) (=]

s s ay iy

sumt= array[i];

}

cout=< * Swn =" <<zum;

Answer (| Please click here to Add Answer )

D@E%E&|%%E|ﬂﬁ|ﬂ|%fﬂ Gl 1T|Ej|1nn%v||
rormal B | BT EEER N E

1
=
b2

[T
[

i
1"
4
1]

IE https://genrica.com https://youtube.com/c/VirtualUniversityPakistan




Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min)

WWite the output of following program.
#mclude<iostream b=

it rmain()

{

mt art[3], =-1, z;

Answer (| Please click here to Add Answer )
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Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) (=]

F Y

while(1=3)
art[1]=+H,

for(i=0; 1=5; 1++)
cout<<art1]=<"";

Answer (| Please click here to Add Answer )
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Question No : 25 of 26 Marks: 5 (Budgeted Time 10 Min) (=]

apa] o otag FS

for(s=0; 1=5; 1++)
cout<<artf1]=<"";

return 0
i -
Answer (| Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) =]

F

Question Mo : 26 of 26
Write a program which tales a string from the user and searches it within another string “This 12 my Palistan

For example, if the user enters the string “my” then after search, the program should display the message “String found” otherwase it should display the message “string not found

Answer (| Please click here to Add Answer )
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